[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

.................................................

.................................................

...............................

...............................

K]

Iy

o RN 10 RN LAY LAARN LA RARRR RAREN LRRRNRRRR

o O
.‘é 1 YT % 17
o H b
0.9F
0.8L

107 1

=
2
N

10 0?
TP vertr (cm
[—— /dataZNegianni’/pareto-opurestaryCMSSW_I4_U_5/STC/MTV-ploDQM_TT__origmal PO |

—e— DQM_TT__trainAll2_PU

i —— DQM_TT__trainAll2pth_PU
@ —— DOM_TT __trainAll2ptl PU
~ 0.1

L RS S S S
) . . . . .
L S R L S SRR
> : : : : :
Q : : : : :
SOOTH g i g
S : : : : :
e | B H I R R A
o i : : ol
0084l -l g5+ we5ee oo
ooaffHfl -]
003t {1k |- l% ------- R RRE
00T AT +++*<;;af"é..~;>;+§"""u
R R B R R

Ratio

e

o
L

=30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02
0.03

Ratio

| ESEEEE PR : HH b A e -
S
[ i 41 ):

wt -+ |‘

09215510 5 0

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


